
9A (Inheritance) wordsearch 12±2

The square of letters contains 12 words - the clues for ten of them are given on the right hand side. First, find 
these words then find the two extra words in the square and solve the two extra clues.

s p u t o v g t l
w a o o v a n a a

h e d g y i r l i
r n a u r a p o t

t r a n a r i l c

e t p e a t s v n
a s t n v i f u e
d b e e o o f l d
s n d g j n o e i

Changed because of environment

Produced by parents

Small differences

Not short

Where the eggs develop in mammals

Exactly the same

An instruction in the chromosome

More than one egg

They look after the offspring

Some can roll - others can not

Could cause identical twins to look different

Male gamete of flowers

Two missing words:

Extra clue 1:
Extra clue 2:

name . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
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